Time (s)

sample = 6.4e—05 topo (ms) = 1430.485(71)
Data Folded = 4202496 Piopo (5/5) = 4.5(2. 1)x1078
Data Avg = 2.149e+04 P opo (s/s?) = 0.0(4.9)x1078
% {1 - 171 - -+ - Data StdDev = 250.3 Binary Parameters
Profile Bins = 100 P (s) = N/A
Profile Avg = 9.032e+08 a,sin(i)/c (s) = N/A
Profile StdDev = 5.131e+04 Toeri = N/A
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2 Pulses of Best Profile

Telescope: Arecibo
Epoch

topo

Candidate: 0.70Hz_Cand RA 15000

Search Information

= 54017.95471064815  Reduced x2 = 6.925
Epochbqry = 54017.95631188767 D|sperS|on Measure (DM) = 373.165

Phase Reduced x
p2030_54017_82487_0080_G56.97+02.82.C_2.wapp

= 19:27:09.5470
Best Fit Parameters
P(Noise) < 1.6e—88 (~19.90)

0 -5x10"-107*

10~* 5x107°

DEC = 22:36:18.3148

J2000

y (ms) = 1430.384(71)
P'bqry (s/s) = 4.5(2. 1)x1078
P ° (s/s%) = 0.0(4.9)x1078

bary
e = N/A
w (rad) = N/A
N
o X
®
¥ 0
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L o
10“' 5x1o‘5 —5x1o‘5 —10“'

P—dot — 1.5932e 10 (s/s)

Period — 1430.48503712 (ms)

Reduced x2

0 2 4 6

Freqg — 0.699064 (Hz)
—2x107° 0 2x1073

5x107°

F—dot + 7.7857e—11 (Hz)

Period — 1430.48503712 (ms)
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